


ŗ







X Y



P (X = 6) X 6 6

�
P (X = 6)

0 à P (X = 6) à 1, ½6 Â �

P (X = 6) = 1
6Â�
∑

0

" ¥
.
I

"



x

÷µY →
a

;±:: " on

1/6

4 Yo

5 '

16

6 46



E[X] = 6 ú P (X = 6)

P

E[c] = c, ½c Â R

E[aX] = aE[X]

E[X + Y ] = E[X] + E[Y ]

6Â�
∑ = { outcome . P ( outcome)

O

}
linearity

of expectation



E C X ] = § x. PCX=x )

= I . 1/6 t 2 . Yg t .
- -

t 6 ' 46

-



{6 ,6 , ...,6 }
{X ,X , ...,X }

= 6

1 = (6 Å )

1 2 n

1 2 n

6e
n

1

i=1

∑
n

i

2

n

1

i=1

∑
n

i 6e 2

-

Nr

Etc X )

all x
- n 5 ]
TECH



{6 ,6 , ...,6 }
c

6 Å c

c 6 c

(6 Å c)

(6 Å c)

1 2 n

i

i

i
2

n

1

i=1

∑
n

i
2

( actual - pred )
'



=

= =

n k

(2
5)  (2

5)
  1

10
1

 (2
5)

  5Å1
10
4

5
2

 (k
n)

  (kÅ1
nÅ1)

-7 to ensure our sample resembles
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